2019-2020 Tuition Rates (32-Week Programs)

▼ 4-Week Trial Program					
45-Minute Private Lessons	4-Week Trial Program	\$555	N/A		
(4-Weeks)	4 Maak Trial Dragger	PCOF	NI/A		
60-Minute Private Lessons (4-Weeks)	4-Week Trial Program	\$635	N/A		
▼ Mom & I Program (Early Childhood Program - 3	Mom & I Program (Early Childhood Program - 32 Weeks)				
30-Minute (Student) & 15-Minute (Parent) Private Lessons	Mom & I Program (Early Childhood Program - 32 Weeks)	\$4917	Plan A Installment 1: \$2459 Installment 2: \$2459 Plan B Installment 1: \$2459 Installment 2: \$1229 Installment 3: \$1229		
45-Minute (Student) & 15-Minute (Parent) Private Lessons	Mom & I Program (Early Childhood Program - 32 Weeks)	\$5557	Plan A Installment 1: \$2779 Installment 2: \$2778 Plan B Installment 1: \$2779 Installment 2: \$1389 Installment 3: \$1389		
60-Minute (Student) & 30-Minute (Parent) Private Lessons	Mom & I Program (Early Childhood Program - 32 Weeks)	\$6837	Plan A Installment 1: \$3419 Installment 2: \$3418 Plan B Installment 1: \$3419 Installment 2: \$1709 Installment 3: \$1709		
▼ Musicianship Program (32-Weeks)					
45-Minute Private Lessons	Musicianship Program (32- Weeks)	\$4448	Plan A Installment 1: \$2224 Installment 2: \$2224 Plan B Installment 1: \$2224 Installment 2: \$1112 Installment 3: \$1112		
60-Minute Private Lessons	Musicianship Program (32- Weeks)	\$5088	Plan A Installment 1: \$2544 Installment 2: \$2544 Plan B Installment 1: \$2544 Installment 2: \$1272 Installment 3: \$1272		
Two 45-Minute Private Lessons (2 lessons per week)	Musicianship Program (32- Weeks)	\$7605	Plan A Installment 1: \$3803 Installment 2: \$3802 Plan B Installment 1: \$3803 Installment 2: \$1901 Installment 3: \$1901		
▼ Performance Program (32-Weeks)					
45-Minute Private Lessons	Performance Program (32-Weeks)	\$5034	Plan A Installment 1: \$2517 Installment 2: \$2517 Plan B Installment 1: \$2517 Installment 3: \$1259 Installment 3: \$1258		
60-Minute Private Lessons	Performance Program (32-Weeks)	\$5674	Plan A Installment 1: \$2837 Installment 2: \$2837 Plan B Installment 1: \$2837 Installment 2: \$1419 Installment 3: \$1418		

90-Minute Private Lessons	Performance Program (32-Weeks)	\$6635	Plan A Installment 1: \$3318 Installment 2: \$3317 Plan B Installment 1: \$3317 Installment 2: \$1659 Installment 3: \$1659
Two 45-Minute Private Lessons (2 lessons per week)	Performance Program (32-Weeks)	\$8779	Plan A Installment 1: \$4390 Installment 2: \$4389 Plan B Installment 1: \$4389 Installment 2: \$2195 Installment 3: \$2195
▼ Artist Program (32-Weeks)			
60-Minute Private Lessons	Artist Program (32-Weeks)	\$7488	Plan A Installment 1: \$3744 Installment 2: \$3744 Plan B Installment 1: \$3744 Installment 2: \$1872 Installment 3: \$1872
90-Minute Private Lessons	Artist Program (32-Weeks)	\$8448	Plan A Installment 1: \$4224 Installment 2: \$4224 Plan B Installment 1: \$4224 Installment 2: \$2112 Installment 3: \$2112
Two 60-Minute Private Lessons	Artist Program (32-Weeks)	\$11787	Plan A Installment 1: \$5894 Installment 2: \$5893 Plan B Installment 1: \$5893 Installment 2: \$2947 Installment 3: \$2947
▼ Adult Program			
45-Minute Private Lessons (8-Weeks)	Adult Program	\$1240	N/A
45-Minute Private Lessons (16-Weeks)	Adult Program	\$2400	N/A
45-Minute Private Lessons (32-Weeks)	Adult Program	\$4640	N/A
60-Minute Private Lessons (8-Weeks)	Adult Program	\$1400	N/A
60-Minute Private Lessons (16-Weeks)	Adult Program	\$2720	N/A
60-Minute Private Lessons (32-Weeks)	Adult Program	\$5280	N/A

- * Registration Fee applies to all students (new & returning students) Non-refundable \$55 fee
- * Ongoing Registration: additional lessons may be added onto the program registered & prorated tuition for registration after first week of lessons
- * 4-Week Trial Program for 30-Minute Private Lessons is available to students 5 yrs and younger (contact: info@metma.org)
- * 4-Week Trial Program lessons may be arranged for up to two different instruments
- * Additional Private Classes may be one-on-one OR shared by up to three students for each class
- * Performance Program & Artist Program may be customized based on teacher's recommendation and number of rehearsal/recital scheduling with accompanist

Important Information regarding Make-up Lesson Policy and Payment & Withdrawal/Refund Policy:

*Installment payment fee: \$25 for each payment period.

(Installment Plan is not available for Trial Programs, Adult Programs and Summer Programs)

**Each student is allowed one make up lesson each semester. Make up lessons due to cancellation or weather may be scheduled during the make-up week according to the school calendar, or according to the instructor's availability at other times. There will be no make up lessons for cancellations made less than 24 hours of the scheduled lesson/class time.

The Metropolitan Music Academy reserves the right to discontinue enrollment of any student with three consecutive absences or cancellations without notifications.

***Written notification is required for withdrawals from enrolled programs. I) Withdrawal notices received 7 days or more prior to the first lesson/class date: refund of tuition amount paid minus \$150 withdrawal fee. 2) Withdrawal notices received less than 7 days prior to the first lesson/class date: refund of tuition amount paid minus \$250 withdrawal fee. 3) Withdrawal notices received on the day or after the first lesson/class: prorated refund of the tuition for the unattended lesson/class schedule minus \$350 withdrawal fee. 4) No refunds on withdrawals submitted after 8 weeks from the first date of lesson/class.

2019 Summer Program (Flexible Scheduling)

▼ Summer Program		
45-Minute Private Lesson	Summer Program	\$139/lesson
60-Minute Private Lesson	Summer Program	\$159/lesson
90-Minute Private Lesson	Summer Program	\$195/lesson
45-Minute Private Lessons (TWO lessons per week)	Summer Program	\$249/week

2019-2020 - Additional Classes

▼ Secondary Instrument Private Lessons		
45-Minute Private Lessons	Secondary Instrument Private Lessons	\$3590
60-Minute Private Lessons	Secondary Instrument Private Lessons	\$4190
▼ Additional Private Classes		
Music Theory & Ear Training (4-Weeks)	Additional Private Classes	\$380
Music Theory & Ear Training (8-Weeks)	Additional Private Classes	\$710
Music History (4-Weeks)	Additional Private Classes	\$380
Music History (8-Weeks)	Additional Private Classes	\$710
Music Appreciation (4-Weeks)	Additional Private Classes	\$380
Music Appreciation (8-Weeks)	Additional Private Classes	\$710
▼ Ensemble Lessons (Chamber Music Coaching)		
45-Minute Ensemble Lessons (One Lesson; Up to 13 yr old group)	Ensemble Lessons (Chamber Music Coaching)	\$160
60-Minute Ensemble Lesson (One Lesson; 13 yrs & up group)	Ensemble Lessons (Chamber Music Coaching)	\$185

2019-2020 - Metropolitan Salon Society Passes

2 Private Salon Concerts	Metropolitan Salon Society Passes	\$1700
4 Private Salon Concerts	Metropolitan Salon Society Passes	\$3100